2010 THIHE R B 2 & (Z2F)

E|1E 52 %3 E 21|
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Abe=g | K AVM | Abe=2 | FAVE | Abw=) | FAVE | Abe-) | K4V
1| SRJFSEMERL (FBHLX) 78 20 80 20 84 20 60
2 | ek BE (&1 1X) 84 16 80 20 84 20 56
3| AL T (F X) 88 13 83 18 85 15 87 17 50
4 | B A | WRbrmx) | 87 14 86 13 90 10 87 17 44
5 | il TEST- (HHX) 85 18 81 19 95 0 97 4 41
6 | BH T (%1 1X) 92 6 89 11 87 13 89 15 39
T | RE ET i X) 84 20 95 0 89 11 96 6 37
8 | HHE THK (HFHEX) 85 18 E NIV 86 18 36
9 | BEILET (i ) 90 9 87 12 97 0 92 12 33
10 | RKE &+ FBHIX) 92 6 91 8 86 14 93 11 33
11| FEAEET (&RIX) 85 18 94 0 90 14 32
12 | KR TEF e X) 86 15 91 8 91 9 96 6 32
13 | BN Eyf | (BRRJINX) 84 20 97 0 92 5 97 4 29
4 | FARTHET (7 X) 91 7 98 0 84 18 97 4 29
15| JFEA—Z= (FHEX) 83 18 95 0 94 9 27
16 | s AT (FHEX) 101 0 84 18 94 9 27
17 | AR =& (F X) 84 16 91 9 25
18 | it Fn¥ FBHX) 88 13 95 0 100 0 93 11 24
19 | AR T h X 88 13 89 11 HFRIR S 24
20 | HEm 123 (FHEX) 93 3 85 14 92 5 97 4 23
21 | Bk W (FHEX) 90 9 89 11 HFRIR S 105 0 20
22 | R ST (LX) 98 0 84 18 18
23 | By T e X 94 0 HHIR G 91 13 13
24 | AEHT (AR X) 94 0 93 0 88 12 | 106 0 12
25 | Bt EAE (HERIX) 96 0 92 2 91 9 11
26 | =YV HET (FHEX) 89 10 FEMe 94 0 99 0 10
27 | HA Fk | BRbrBX) | 99 0 91 9 98 0 9
28 | WHEAH X (RIX) 102 0 91 8 97 0 100 0 8
29 | WEEERT | BRI 98 0 91 8 e HHIR G 8
30 | e BT (FIEX) 95 0 91 8 HHIKR G 8
31 | BATXRT (Fk X) 97 0 91 8 8
32 | A HH (EBHIX) 99 0 93 0 94 0 95 7 7
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33 | & &1 (B8 RLIX) 92 6 98 0 FHIR G 110 0 6
M | FEEMMT  (E X) 98 0 96 0 93 1 97 4 5
3B | R W | GhERIIK) 108 0 97 0 92 5 102 0 5
36 | InATHT (A ) 94 0 92 5 5
37T | INRR VT (#BHLX) IR 94 0 99 0 97 4 4
38 | IR G X HAIK G 100 0 106 0 97 4 4
39 | BE K| GRErsx) | 93 3 103 0 95 0 98 0 3
40 | KEY X (A X) 93 3 96 0 97 0 101 0 3
41 | WEAF #ET G X) 105 0 92 2 2
42 | N EET ( X) 103 96 0 93 1 1
43 | HEVLETF (FHX) 100 0 95 0 98 0 0
44 | B BT e X) 102 0 97 0 98 0 0
45 | NifE =¥ (FEEX) 95 0 103 0 96 0 99 0 0
46 | T Mm% (A X) 95 0 99 0 97 0 100 0 0
AT | /AR HIZE (B 1X) 98 0 96 0 100 0 100 0 0
48 | KA I+ W X) 103 0 93 0 102 0 100 0 0
49 | i & (LX) 105 0 97 0 95 0 101 0 0
50 | BEEHET (HEAEX) 97 0 97 0 103 0 0
51 | JRHH #ET | (R 95 0 96 0 M 107 0 0
52 | AT &k e X) 97 0 101 0 101 0 113 0 0
53 | /AR RREMR G X 99 0 99 0 129 0 0
54 | HFIEMHZE G X) 94 0 94 0 95 0 FHIR G 0
55 | B AT (HEFEX) 111 0 97 0 97 0 0
56 | Wi HET CINEY 100 0 0
57 | ZHBEET (LX) 96 0 FHIR G 0
58 | =ik (e X) 95 0 0
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